
Magic Square Calculation
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1.  You start with this square with the numbers filled in and the 4 squares blank.

2.  Ask for any number to be selected between 22 and 100.  

3.  You fill in the 4 numbers so the rows and diagonals and 4 corners and the 4 middle square all add to 
the number they select.
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96C =
 A + 24

D =
 A + 33105

2
A = Their 
number  

minus 21
811

7121B =
 A + 1

Step 1.  Subtract 21 from the number selected and put that number in square A

Step 2.  Square B = A + 1    Square C = A + 2   Square D = A + 3  

Notes:  
1.  You can start with the card filled in and write in the 4 numbers as a basic performance.  You will need to 

have a pre filled out cards or cards to do this.

2.  You can have a small copy of the card and use it to fill out a blank acrd.   Have a few blank 4 by 4 
squares and show the first one blank. Hold the card up towards you and start filling it in out using the 
small cheat sheet that is on the next card.  If you do this on blank paper then just draw the squares and 
start filing them in.  When you hear the number they selected write the last 4 numbers. 

3.  If you allow numbers from 22 to 34 there will be repeated numbers on the square.  If that is a concern 
then ask for numbers from 34 to 100.  

4.  You can do the effect for several people at a time.  Have them call out number and give them the 
square and do this for several people.  Have them verify the square they have has the total they 
selected.   If they compare cards they will  see the cards are similar but it is still a strong effect. 

5.  You can start with the card filled in by hand. Ask for a number and have him think of it for a minute as 
you try to read his mind (or fill in the card by memory).  Ask him to revel the number and write in the 
last 4 numbers very fast as you say ”thatʼs what I was feeling”.  Hand him the card and have him find 
his number is the total.  



Example:  They pick 62 
A =  62 – 21 = 41     B =  42    C =  43       and D =  44
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D3105

2A811
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712142

 

The magic total is 62.  

Example:  They pick 34 
A =  34 – 21 = 13     B = 14    C =  15      and D =  16
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96154

163105

213811

712114

 

The magic total is 34.  



  


